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PART 1

Important Rules of Englisk Grammar

What is English grammar ?
Sample answer :—

English grammar is the science which deals with the
form of words and the construction of sentences.

What is the purpose of English grammar?
Sample answer :—

Tt shows us what is ¢ rrect and what is incorrect in
the language, and traches us to speak and write
correctly.

Whet is a sentence ?
Sample answer —

A sentence may be defined as a group of words that
expresses a complete thought.

How may we identify a sentence ?
Sample answer: —-

A sentence may be identified by three methods: (1)
by its form (2) by its arrangement and (3) by its
connecting words.

What are the cseential parts of a sentence !
Sample answer: -
There are 1w essential parts i ¢iory seutence : the

subjeet and the predicate.
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6. How many kinds of sentences are there 2

7.

w

Sample answer :—

(A) There are three kinds of sentences according to
their form: (1) simple sentence (2) compound son-
tenee and (3) complex sentence.

(B) There arc five kinds of sentences according to
thier use: (1) declarative sentence (2) interrogative
gentence  (3) imperative sentence (4) exclamatory
sentence and {H) optative sentence.

N

Name the parts of speach and give a definiton for each.

4

Sample answer -

}
h

The parts of speach are noun, pronoun, verb, adverb,
adjective, conjun:tion, preposition and interjection.
A poun is the nane of a person, place, or thing. A
pronoun is 1 word used instead of a noun. A verb i8
a word which tclls us what a person does or what an
animal does. or what a thing does. An adverb is a
word which modities 1 verh. an adjective, or another
adverb. An adjective qualifies a noun or pronoun.
A conjunction vonnects werd or group of words. A
preposition is a word placed hefore a substantive to
show its relation o some «iher words in the sentence.
And an ipnteryetian bsoa cry or other exclamatory

ound expre--iny corprise. anger, pleasure, or some
ther emnoticn or focts o

smany Kindds of G o ae there

Cle answer .
vorerent witoes hooaly thens difierently; but they
coominonly chreged as tollows



9.

10.

11.

(a) proper nouns,
(b) common nouns,
(¢} collective nouns,

(d) abstract nouns.

Define and give an example for each kind of nouns.
Sample answer :(—

A proper noun denotes one particular person or thing,
a8 distinct from every other; as India, Rober, James,
the New Testament, etc.

A common noun is a name which is given to all
things of the same kind; as state, man, book, etc.

A collective noun denotes a group, collectien, or
multitude, considered as one complete whole; as flock,
army, asembly, ete,

An abstract noun denotes same quality, state, or
action apart from anything possessing the quality, etc;
ag cleverness, pleasure, choice, and so on.

How are abstract nouns formed ?

Sample answer ;—
Abstract nouns can be formed from adjectives,
common nouns, or verbs: as wise, wisdom. honest,
honesty; sweet, sweetness; friend. friendship; agent,
agency; slave, slavery; choose, choice; move, motion;
laugh, laughter.

How many kinds of genders are there? define them.

Bample answer :—



12.

13,

There are four kinds of genders: (1) masouline
gender—denoting male animals (2) feminine gender—
denoting female animals (3) common gender—denoting
animals of either sex, and {4) neuter gender—denoting
things of neither sex.

In what ways can we dist’ guish a masculine noun from

a feminine ?

Sample answer :(—
There are three different ways by which a masculine
noun may be distinguished from a feminine: (1) by
a change of word: s cow, bull; (2) by adding a word;
as he-goat. she-gont; and (3) by adding “‘ess” to the
masculine: as priest. priesvess. '

What is 8 noininative case! an objective case and a

possessive cnse! Under what conditions may we omit

the apostrophe 3" to the possessive cage ?

Sample answer . -
When a noun is used as the subject to a verb or for
the sake of adresss it s said t be in the nominative
case; as i o) openst where are g going, Mr, Wang?
When a noun i< the object to a verb or to a preposi-
tion, it i~ wwd o be in the objective case; as the
woman reaii= a g The dog was seen by me.
The possesive v derotes ownership or possession;
as the {70 hewa e iy name, AMei's father
We it e apestiophe N to the possessive case,
when (1) oo 0 Lland nouns ending 8’ ag birds’
nestas b e e dast sy lable of a singular

T3y iugrvz‘. : et e Con 1 i
noun begine sl ends wth on T ge Moses Law,



14, What rules are there for forming the plural number of
a noun ?

Sample answer :

There are many rules for forming the plural number
of a noun. The more important ones are: (1) by
adding “S” to the singular' as hand, hands; (2) if the
noun ends in “s”, “x”, «“gh”, or “ch”, the plural is
formed by adding “‘es” to the singular; as glass, glasses;
box, boxes; lash, lashes; bench, benches; (3) if the noun
ends in “y” and the “y” is preceded by a consonant,
the plural is formed by changing the “y” into ““ies’;
as army, armies; duty, duties; (4) if the noun ends in
“0”, and the “o0” is preceded by a consonant, the
plural is generally formed by adding “es” to the
singular; as potato, potatoes; hero, heroes, (5) if the
noun ends in “f” or “fe”, the pluaral is generally
formed by changing “f” or “fe” into ‘“ves”; as
wolf, wolves; life, lives.

15. How many kinds of adjectives are there?! give the
meaning of each.

Sample answer:—

There are six different kinds of adjectives: (1) de-
monstrative—showing which or what thing is meant;
(2) quantitative—showing how much of a thing is
meant; (3) descriptive—showing of what quality or
in what state a thing is; (4) numeral—showing how
many things or in what order: (3) proper —describing
a thing by some proper noun; and (6) distrihntive—~

showing that things are taken separately or in separate
lots.



16. What are the two uses of adjectives? define them.
Sample answer:—

The two uses of adjectives are attributive and pre.
dicative: (a) attributive-— An adjective is used
attributively, when it qualifies its noun directly, so as
to make a kind of compound noun; as a prgre man;
the pequtiful lower; (b) predicative-—~An adjective is
used predicatively, when it qualifies its noun indirectly; .
a8 his behaviour ig gond; these horses went Jame.

17. How can we indicate the degrees of adjectives?
Bample answer —

We indicate the degrees of adjectives by comparison.
There are three degrees of comparison in adjectivés;
namly. the positive, comparative and superlative. In
all adjectives of more than two syllables, and in most
adjectivos of two syllables the comparative is formed
by adding “more” and the superlative by adding
most, as more important, most important. If the
positive ends in two consonants, or in a single
consonant preceded by two vowels, “er’’ and “est”
are added: as deep, deeper. deepest: thick, thicker,
thickestosmatl smaller simallest.  1f the positive ends
m e only o7 and st are added and not “er’” and

st as Wise, Wiser., wisest,
. L

<

If the positive ends in
¥ oand the v i preceded by aconsonant, the ¢y”

i3 chaneed fooe 17 then ‘er and “est’ are added;
ae dry iy adriest. I the

vowel  the oy

“y s preceded by a
not chenzed nto i) as grey,
greyer. Jrevest oo adiectives form their com-

gt



paratives and superlatives in an irregular way; as
many, more, most; bad, worse, worst; little, less, least.

18. How are compound personal pronouns and compound
relative pronouns formed?

Sample answer:—

Compound personal pronouns are formed by adding
“self”” to “my”, “thy”, “your”, “him”, “her”, or
“it”, and “selves” to ‘“ours” ,your”, or “them”.
Compound relative pronouns are formed by adding
“ever” and ‘“‘soever” to “who” “which”’, or “what"’.

19. What is a personal pronoun? a relative prononn? an

interrogative proncun? and an adjective pronoun?
Sample answer:—

(a) A personal pronoun is a pronoun that by its form

" denotes the speaker, the one spoken to, or the
one spoken of.

(b} A relative pronoun is one that relates to some
preceding word or words and connects clauses.

(¢) An interrogative pronoun is one with which a
guestion is asked.

(d) An adjective pronoun is one that perferms the
offices of both adjective and a noun.
20. What is an antecedent? and what do the relatives
“who’’, “which’’, and “that’, always represent?
Sample answer:—
The word, phrase, or clause in the place of which a
pronoun is used is culled an antecedent. The relative
“who”’ should always represent person; = which’™ brute

animals and inanimate things: and “that” person,
animals and things.



21, Make lists of reflexive personal pronouns for each person,

Sample:—
T The iirst person
5 singuls | Jural
case singular | P
|
nominalive {
or myself i ourselves
. . v {
objective ) 1
my |
possessive or ! our own
mine own |
IT The second person
A R ;
} . I
| case singular | plural
| !
e e e :
i nominative [ {
| or - thyselt | yourselvse
| objective \
| possessive thy or thine  your ewn

HI  The third person

—— .

| case SITIUATERE | plural

R

{ » H‘“‘*"“‘j"*‘*‘“*"“*”’

; mseuline  fonndnine neater 'all genders

Bom GF R} bhuel Lol el thomasl
DUBSCARI LG M:A‘xze owho fjri W |'3 ;;ywu Lhmrown




22. What is a transitive verb and an intransitive verb? a
regular verb and an irregular verb?

Sample answer:—
(a) A transitive verb is one that require an object;
a8, Ho hgd much breqd.

(b) An intransitive verb is one that does not require
an object; as, These men ook ot me.

(c) A regular verb is one whose inflections are aways
regular; as, connect (present), connected (past);
continue (present), continued (past); etc.

(d) An irregular verb is one whose inflections are
always different in form; as, write (present),

wrote (past); speack (present), spoke (past); begin
(present), began (past), ete.

23. What are she functions of an auxiliary verb?
Sample answer:—
The functions of an auxiliary verb are (a) helps to

form a tense or mood of some principal verb, and (b)

foregoes its own signification as a principal verb for
that purpose.

24. How many kinds of perfect tenses are there? Give
example for each.

Sample answer:—

There are three kinds of perfect tenses, namly: present
perfect, future perfect, and past perfect, as:

(1) T have loved (present perfect)
(2) 1 shall have loved {future peifect)

(3) I had loved (past perfect)

—_— 9 —
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25. What is a transposed order, and an usual order?

Sample answer:—

(8) When any word or phrase in the predicate stands
out of its usual place. appearing either at the
front of the sentence or at the end, we have what
we may call the transposed order; as, Strange are
the ways of a loreigner.

(b) An usual order occurs when the subject com-
plements and object complements appear in their
customary positions: as, I shall try to teach you
a little Knglish.

26. What rules have been given for the use of the capital
letter?
Sample answer —

(a) The first word of every sentence must begin

with a capital letter.

(b) Proper. or individual names and words derived
from them begin with capital letters.

What rules have been given for the use of the period?
Sample answer:—

(@) N perivd st be placed after every semtence

that stuply aftirms. dendes, or commands.
(b}  Abbreviations gencrally hegin with capital letters
and are sdways followed by (he period.
28 What g s woltior

o . -
What = a »ubject modifier, and
DIC Leate it



(8 A modifier is a word or & group of wards joined
to some part of the sentence, to qualify or limit
the meaning.

(b) The subject with its modifier is called the subject
modifier. The predicate with its modifier is
called predicate modifier or logical predicate.

29. What is a phrase? What are adjectival and adverbial

31.

32.

phrases?

Sample answer:—
A phrase is a group of words denoting related ideas,
and expressing a thought. A phrase that does the

work of an adjective iz called an adjectival phrase.

A phrase that does the work of an adverb is called an
adverbial phrase.

What uses does the comma have?
Sample answer:—
Word or words that are placed out of their usual

order and made emphatic, or lossly connected with

the rest of the sentence, should be set off by the
comma.

What is a compound subject and a compound predicate?
Sample answer:—

Two or more connected subjects having the same
predicate form a compound subject. Two or more

conuected predicats having the same subject from a
compound predicate,

How many uses of the participle are there?

Sample answer—



(1) ‘The participle may be ‘used as am adjestive
modifier. ‘

(2) The participle may be used as an attributive
complement.

(3) The participle may be used as an objective
complement.

(4) Tke participle may be used as a principle word
in a phrase.

(5) The participle may be used as a mere or & mere
adjective.

(8) The wparticiple may be used in independent
phrases.

33. How may the infinitive phrase be used?
Sample answer:—

(a) The infinitive phrase may be used after a pre-

position as the principle term of another phrase; as

My friend is about 5 leqve me. Here the preposition

“about’” introduces the phrase used as attribute

complement. The principle part is the infinitive

phrase “to leave me.”’

(b) The infinitive phrase may be used as an ex-

planatory modifier. ax It i3 easy ¢ find fault, Here

the infinitive phrase ¢ fiud fuult explains the subject

“it.”  Read the sentence without “it,” and you will

ge= the real nature of the pbrase.  This use of <it” as

a suhstitute for the real subject is a very common

il of the Fnolish language. Tt allows the real

subject to follvw the verh and thus gives Lhe sem-

tence balance of pasts

1 e



(¢) The infinitive phrase may be used as objective
complement; as He made me to wait. Here the infini-
tive “to wait” completes “made’’ and relates to me.

(d) The infinitive phrase may be used independently,
as every object has several faces, g 10 speack. Here
the infinitive phrase ““so to speak’ has no grammatic
connection with the rest of the sentence.

34. What is an adjective clause?
Sample answer:—

A dependent clause that does the work of an adjective
is called an adjective clause.

356. What is an adverb clause? What do adverb clauses
express?

Sample answer:—

A clause that does the work of an adverb is an adverb
clause. They express (a) time; a8, When pleasure calls,
we listen, (b) place; as, Where the snow falls, there is
freedom. (c) degree or result; as, Washington was s
good as he was great. (d) manner; as, He died as he
lived. (e) real cause; ag, The ground is wet because it
has rained (f) condition; as, If the air is quickly com-
pressed, enough heat is evolved to produce com-
bustion, and (g) purpose, as, Language was given us
that we might say pleu~sant things lo ench other,

36. What is a noun clause! How many uses of the noun
clause are there.

Sample answer:—



37.

38.

A clause that does the work of a noun is a noun clause.
There are five uses of noun clause. (1) Used as
subject; as that the earth is round has been proved.
(2) Used as cbject as, Galileo taught that the earth
moves, (3) Used as attribute complement; as a
peculiarity of English is that 1t has so many borrowed
words. (4) Used explanatory modifier; as, It has
been proved that the earth is round. (5) Used as
principle term of a prepositional phrase; as, Have
birds any sence of why they sing?

What is a coordinate conjunction and a subordinate
conjunction?

Sample answer;---

A coordinate conjnnetion js one that connects words,
phrages, or clavses of the same rank.

A subordinate conjunction is one that connects clauses
of different rank.

What are the uses of a gerund?
Saraple answer:

A gerund may beoieed e (1) the subject of a verb—
Wy s my Lo ente oecupation, {2) the object of a
verbe =T ke - (Y the complement of a verb—
Seeing s felios . o) The ohiect

of preposition—
He cpoke to me aboor L0

Jovnnswer inunediately.

O



PART 1l

Construction and Translation of sentences

1. Write sentences in which the following words are used
as indirect object; as object of preposition:
(a) me (b) us (¢} him (d) them,
Sample answer:—
(1) He gives me a book. (indirect object)
He laughed at me. (object of preposition)
(2) They thought wus to be the teachers. (indirect
object)

He made many benches for ys, (object of pre-
position)

(3) We made him the mayor of Wuchang. (indirect
object)
The office of the mayor of Wuchang was offered
to him. {(object of preposition)

(4) Let me ask them to do it for themselves,
(indirect object)

Let me make it for them. (object of preposition)
2. Write sentences in which myself, yourself, yourselves,

ourselves, themselves, arc used for emphasis, and as
reflexive object.

Sample answer:—



(1) I myself shall write it. (emphasis)
I punished myself (reflexive)

(2) You yourself is on responsible for the error.
(emphasis)
You will surprise yourself when you find your
progress to be go fast. (reﬂeiﬁve)

(3) You ~ourselres take the charge of this work.
(emphasis)

You wmust read for yourselves, (reflexive)

(4) We nurelies played tenuies.  (emphasis)
We will study it ourselres. (reflexive)

(8) They were impolite theiselres, (emphasis)

They were saying something to themselves. (reflexive)
Construct sentences containing “whoever,”” “whomever,”
“Whatever,” and “whom.”

Sample answer-—

(1) Whneoo s loves e s the best fellow,

{£) You may give the book Lo whgmerer you please.

(3) I want H!";»’;,‘,",\,» vl o RETAT

{4) The boy i 1 ko o= named Li,

Construct five sentenor. with the rlative “that” orF
“which.”

Semple apewer:—



{1
2)

@)
(4)
)

8. Used

plural:

The point about him that I liked most is his
frankness.

The fine building that you saw is my friend’s
house.

I bave a house which stands on a hill.
Give me the book that is on your shelf.
The pen whick he is holding is very beautiful.

the following words first as singular, then as

(a) all (b) some, (c) half, (d) such.
Sample answer:—

(a)
(b)
(e)

(d)

(e)

All is well. (singular)

All of boys and girls are very happily. (plural)
Some of the time, I am tired. (singular)

Some of them are old and some are young (plural)
Half of the composition is clear and interesting,
but the other half is dull and insipid.

The man is the judge appointed to hear this
case, and as such you must not speak to him
before the Trial. (singular)

Kings are constituted such by law, and should
be obsyed.

6. Write sentences containing an infinitive used as subject,
as the objeot of a perposition, as an adjective modifying
a noun, as an adverb modify g & verb, as a noun in
apposition with another noun.



Sample:—
(a)
(b)

(i

o)

(d)

{

e)

To tell a lie is wrong. {used as subject)

He does nothing but (t0) ¢cry. used as object of
propoeition)

I have no time to play. (used as an adjestive
modifying a noun)

We came here to study (used as an adverb
modifying a verh)

The work, to translate English into Chinese is
difficult. ( used as a noun in apposition with
another noun.)

7. Write five compound or complex scutences containing
the following verb phrases:

Having seen, am being taught, to be repaired, had
spoken, had been written.

Sample:—

l

a)

Havining seen that the cun is about to set, the
shepherd returned home with his sheep.

I am being taught by my teacher who is a dootor,
The wall, that haz been defaced ought to be
repaired.

He had spoken of this matter before 1 came here.

The bock that vou are reading had been written
by my teachier,

8. Compose sentence: 1 which vaen of following verbs

shall have two cowplements~ the one o subjective
complement, the other an objective complement:

— 15



(a)

Give (b) appoint, (c) consider, (d) call.

Sample:—

(&)
(b)

We give him happiaess.

He appoints you as a ruler of Newland.

(c¢) They condsider the reputation as his Jife,

(d)

My friends call me a hapyy man.

9. Change the following sentences from the active to the
passive voice:

(a)
(b)
()
(d)
(e)
()
(8)
(h)
{i)

)

I shall never forget my friend.
Your letter surprised me. "
The officer has punished the soldier.

We cannot gain knowledge in one day.

They had done their work when they went out.
He was writing a letter.

The old men has openned a little shop.

I bave asked him te help the beggar.

The boy drinks two cups of tea everyday.

When shall you buy this house?

Sample: —

(a)
(b)
(e)
(d)
(e}

My friend shall be never forgotten by me.

I was surprised by your letter.

The soldier has been punished by the officer.
Knowledge cannot be gained by us in one day.

Their work had been done by them when they
went out.

w= 19 e



(D) A letter was written by him.

(g) A little shop has been opened by the old man.
(h) He has been asked by me to help the beggar.

(i) Two cups of tea are drunk by the boy everyday.
(j),. When shall this house be bought by you?

10. Rearrange the following sentences, and punctuate them,

(a) A gentleman will let his house going abroad for
the summer to a small family containing all the
improvements.

(b) The to¥n contains fifty houses, and one hundred
inhabitants built of brick.

(¢) Suits ready made of material cut by an ex-
perienced tailor handsomely trimmed at a bargain
are offered cheap.

(d) Seated on the topmost brach of a tall tree busily
engaged in gnawing an acorn we espied a squirrel.

{e) A poor child was found in the streets by a weathy

and benevolent gentleman suffering from cold
and hunger.

Sample:—

(8) A gentleman, going abroad for the summer, will

let his house containing all the improvements to
s small family,

(b) The town contains fifty hounses, built of brick,
and ore hnndred inhabitants.

_ %0 —



(¢) Ready made suits of cheap material, cut and

trimmed handsomely, by an experienced tailor
are offered at a bargain.

(d) We espied a squirrel, seated on the top-most

branch of a tall tree, busily engaged in gnawing
on acorn,

{6) A poor child suffering from cold and hunger, was

found in the streets by a wealthy and benevolent
gentleman.

1. Expand these by supplying the verb or some part of it:
(a) Nobody there
(b) Death to the tyrant.
(¢) All abroad!
(d) When Adam thus to Eve.
{e) I must after him,
(f) Short, indeed, his carreer,
(g) All hands to the pumps!
(h) What fame to me?

Sample:—

{a} Nobody is there,
(b) Death 45 to the tyrant.
(c) All gre abroad!
(d) When Adam thus gy to Eve.
(e) I must g after him,
{f) Short, indeed, his career i3,
(g) Al bands go to the pumps!
(h) What i fame to me?

— 9] -



12.

13.

14,

Change the following simple sentences into complex
ones.

(a) He is a man of strong costitution.

(b} I took the man for a spy.

(¢) Their explantion cannot be true.
Sample:—

{2) His a man who has a strong constitution.

(b} T thought that the man was a spy.

(¢) The explanation that they have given cannot be

true,

Chang the simple sentence into a compound sentence;
“You must work hard to succeed”,

Sample:—

You must work hard or you will fail.

Chang the following simple sentences intoc compound
sentences:

(A) Wear the old coat. Buy the new book.
{B) Heisarichman  He is not proud of his wealth.
(€) Tgivehima w.itch. He carries it in his pocket.
{1} He went over to Ching last year.
Heo s stilt iving there
Sample—
(A) Wear the old coat, 4y buy the new book,

¢B) He oo rich wman, 4o he i3 not proud of his
wenith

() T wnve him oa wateh, yiseh he carries in his

;)(,N‘}u*t
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(D) Last year he went over to China, yhere he is still
living,.

18. Combine two simple sentences into a simple sentence in

16.

the following.
(a) He woaked hard. He felt tired.
(b) The sun rose. The fog dispersed.
(c) Heis sorrowful. He is still hopeful.

(d) He has a large family. He must provide for
them.

(¢) He fled from bLis creditors. This was very
dishonest.

Sample:—
(a) Having worked hard, he felt tired.
(b) The sun having risen, the fog dispersed.
(c) In spite of this sorrow, he is still hopeful.
(d) He has a large family to provide for.

(e) He fled from his ereditors,—a very dishonest act.

Combine the following simple sentences inte complex
ones:

(a) He is an honest boy. This is certain.
(b) I suffered anxiety. The anxiety was extreme.
{¢) He fourd out his misiake. He was then very
SOrTY.
Sample:—
(a) Tt is certain that he is an honest boy.
(b) The anxiety that T suffered was extreme.

(¢) He was very sorry when he found out his mistake,

N T -



1.

2.

Translate the following mentences:
() WA AHEREF RE A —~HBH-
M A AETBLACHARK I X0
(c) 3 My & 2K & th o
() P B Rt ERIBMEIRK
Sample:—

(a) I shall hope to enter the same school with you
next year.

{(b) He did not wish to be seen, so he went out
stealthily.

(c) The nearer that boat comes the faster it goes.
(d) When they saw him lying on the ground, they

helped him 1o get up.

Translate the fullowing sentence,
@) M EAITKIKVDEHED
() WATH W AT It e
() TR B AL R B0y o
(Q) e B ks B ot oh WAL W B o
Sample:—
(a) He was afraid of Yeing laughed at so he remained
stlent,
(by Few men would go where hie had gone.

() I my house there are cvergl tables which are
made in this way

{d) It ixead o relive how he died.



Translate the following sentences:

(2) iR B 5 AR 40 78 4 WG PR 0 7
by M HGHMEMERE
() BRETFEARBERNALELAB
DAFAFHRBRANBREERT  EER
wng 7
Sample:—
(a) Do you hear that dog barking outside?

(b) To-night the moon shines more brightly than ever
before.

(¢) This vehicle is used for carring goods and not for
carring persons,

(d) Some say that science is very monotonous, is
that true?

Translate the following sentences:

(2) Tk R e sbo

L) MBEHOCH A EHEHGBE-

(c) M4 T % Btk Wi E—2b o

(d) BMmAT wifeis & : — BB —-BX
B REEM -

Sample:—

(a) Tt was here that I found them.

(b) He thinks that he is not equal to the task.

() He made @ -izn with his hand to show that 1

wis to oo forward one step.

g~
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(d) There are two ways for us to go: One is science;
and the other is literature. Which one of them

shall I choose?

5. Translate the following sentences:

(a) B EmpE IR &G HEP A&

(b) #% kiﬁ,&'iﬁ&iﬁf&mﬁw@ Mk B

(c) K s i g KK & BE Ko

(y BAp NS BT R R EEME

(¢) Keauh e ppF b Wl fFB AR EWo

manmple

(a) Onentering o shop bwet one of my old friends.

(hy After they were awakened by the fire alarm,
thev run ot to see il

() Tt scems that be would not come to-morrow.

() Now the principal dihenlty s to seek where he
really s

{3 Wheather we should vo or not is a question which

von v self sk de idied

& Proamsbite the fooen st i

cov R g st T R Y

O fy 0 T T s e

RSN TR GRS 1 B RS U BT T S L1 ¢ S

¥



Sample:
(2) Can you sit here and wait for me?
(b) He left no stone unturned.
(¢) You should not depend upon him for aid.

(d) I do not know whether you are diliyent or not.
1f so, you would make great progress in every
course.

(e) If that chemist perseveres in his labors, he will
give us a new contribution.

7. 'Translate the following sertence:

(a) VL4% 58 MW 1~ 46 19 4o o fi o
(h) BERGS DR EMECHERL
(c) Vi BRBILE R ESHIHM To
() oo HELRENFE
(e) frfg e MR BERMME Y

Sample:
(a) Hereafter you need not to do so.
(b) ¥ will do my best to tinish that job for you.
(¢) The levy suceeeded by means of his assistance,
(d) To study hard is students” duty.

(¢) Can you tell me what is the property of axygen.

2. Translate the following sentences:
cuy o G R OR R R R b M
B 7

(by % Foo8 O S i 0B B B e 2 [ oo

FUTO ¢ —



Oy RBBECHRIBE2HSE
M BRBLA Do

(@) REEBHEHREo

@aBFEAKARn--HE .  AYPYAR
®AME-

Sample:—

(a) Do younot see that the stars are aparkling in the
sky?

{(b) As to pay I do not want much, only sufficient to
meet my expences

{¢) His success was not only dependent on his own
ahility, but also dependent on the influence of
eney.

{d) 1 wish to give you this for to do

{e) Chemistry 1s olso une of the natural sciences and
18 very closely related tn physics,

9. Translate the following sentences,

(s) BCH BE IR A 4m 37 3% 8039 o0 B OF
(hy WA B 3 T R 4 P I g 9
o) B AT T B e BRI e
OO R A R oy R A (o
Co TR AR D e B e

WAy e e

) th how sy snen keew the AR alt conditoin



(b) If not for that rain, can we make a successful
departure?

(¢) How can nature survive, without sunlight and
air?
(d) His spirit was worn out in finishing this work.
(e) Trees often grow out of the stomes in the
mountains.
10. Translate the following sentences:

(a) M EE M T RBHEBRY Lo

(b) & B WA G214 kT oo 3R IR

) ABEHRELELBEHKDERZHE

) RATENRP AR ENORMERT

(e) WA ? BB T AL L RR!
Sampie:—-

(a) He shifted on me the responsibility which he

ought to bear himself.

{b) How many would remember the accemplishments
of his lifetime!

(¢) Birds are singing on the branches of the trees to
welcome the coming of spring.
(d) What I and all of us want are all here.

(¢) That place? It is far away; and I do not know
how many miles away!



PART 1
Idioms, Phrases and Words.

1. Explain these idioms “‘had better.” ""had rather,” ‘‘has
as lef,”? in $he following sentences:—

(2) You had better wait here. (b) He had iather go

with you than with me. (c) They had as lief
walk as ride, ‘

Fixplanations

In these sentences ' had* is in/ the subjunctive
mood; the tence is past though the meaning is present
or future. **Better,” “‘rather,” and *as lief" are adverbs
modifing “had,” “‘wait,”” “‘zo” and “‘walk’ aie
infinitives without the sign “to;” wsed as object of
“had.” “Had" in “had rathe1’® and “had as lief® are
aften replaced by “would.” “Lief*® means “willingly."”

“Lief” and “rather’” may be replaced by “soon’ and
“sooner.

2, Write a sentence with the idiom “the.........5he’" and
explain i,

Bamples—

The farther be goes, the moie slowly he walks.

Here “the...... the” expresses 2 a proportion between
the degree of the distances and the rate of walldng,

on in other wordss “the slowness of his walking
increases in the same propoition as the distance he

el



- goes increaces,” The fitst “the” is a relative adverb

of quantity; the second “the' is a simple adverb of
quantity. ’ ’

8. Write alsenténce with the idiom “‘worth while” and
explain it.

Samples~—

“This is not wotth while,” “while®® is a noun meaning
“time;" it is an adverbial object modifying the
predicate adjective “worth.” This sentence means
“This is not worth the time that it takes to do it" or
“This is not worth time that it takes to consider it.
The same construction may be seen in this watch is
worth ten dollars.

4, Make a distincﬁon between the idioms “can but” and
“can not but’ and give examples.

Samplet—

“I can but cbey you," “but’ is an adverb modifying
“can obey.” Here “but’’ is equivalent to “only," so
that the sentence meanz “I can only obey you.” (‘I
can not do anything more than to obey you,”)

5. Explain the use of the idiom “but that" and give
exgmples.
Samples=—

A clause iptroduced by the idiom “but that™ is
- frequently used after “know,’ “say:"’ “doubb’ or “am
sare’’; in negabtive and interrogative sentencess For



examples: “I do not know but that he will be came,’
“Who knows but that he will come?"” “I do not say
but that he is an honest man,”” “I do not :doubt but
that this is true,” “Lam not sure but that I shall go
to-morrow.” When used in this way, “but that”
may be regarded as a conjunctive phrase.y

6. Give reasons for using “whoever” and “whos”’ but not
“whomeve:”’ and “whow® the following sentences Tes~
 pechively.
{A) We should punish whoever is guiltys (B) 'The
doubt as to who did this has never been removeds (C)
A man who 1 thought was your brother called on me
yesterday: (D) The person who we believed was
guilty is in faith innocent,
Sample:—

i (A) “whoever* is not the objéct of “should punish®
but the subiect of “is.” The object of “should punish*®
is the entire clause “whoever is guilty.” In (B)«
“wha' is not the object of “as tes’® but the subject of
“did.” The object of “as to” is the entite clause
“who did this.” In (C) “whe® is not the object of
“thought’® but the subject of “was,”” The clanse I
thought’® is parenthetical. We may refain the
objective form “whom,” however it we changs “was®
to “bo bes” for “Whom’ would then he the subject of

“to be.”” In “A man whom I thought %o be your
brother called on me vesterday,” “I thought”

pa-enthetical. What has been
equally to (D};

is not
_said of (C) applies



7.

Give examples for “$han®® used a preposition.

Sample:—

*"Than’* must be regarded as a preposition when it is:
followed by relative pronoun in the objective case. For
example ~'He is 2 man than whom there is no one
more honest in this town.”” ‘‘Than” may also be
regarded as a preposition after ‘‘other,” ‘‘else’ and
“yather,” as I have no friend othet than you, 'This
book is other than what I thought it was,”” I can do
nothing else than obey you, “‘T will do this myself
rather than you should do i6.*" In these sentences
“‘you,” *‘what I thought it was,’* the infinitives ‘obey””
and “thaﬁ you should do it’* may be regarded 28 the
objects of ‘‘than.”’

. 4
8. Explain the uses of ‘‘as.”

Samples—

After the relative adverb “‘as® there i= froently an
ellipzis. Sometimes, however, “‘ag?? is vrod merely to
introduce an object complement, a predicate :omi-
native, or a predicative. This construction is esperially
frequent after the verbs ““consider,” *°rerard,”
“acknowledge,” - and “‘accept.”” For examples ‘1
consider him as my friend,”? They ack owledge him

.as the rightful owrner of the house, T ozard him as

hone=t,”? He is unwilling to accept my statosent as
true, C“His statement was rogarded as incorroct,” * He.
is considered as having failed.?” ““He is 10-ozniced as a
patriobic citizens®® When used moercly to introduce a



. . » | . . %
noun or an adiective ‘‘as” is an expletlve. For ex~
. - (34
amples “I consider him as my friend, *“His staternent
was regarded as incorrect.”?

9. Explain the use of “*‘Now that.”
Sample:—

**Now that*? is a conjunctive phrase equivalent to since
....tiow. For example, “‘Now that T have finished
1y lessons I intend to go for 2 walk. (=Since 1 have
now finished my lessons I ludend fo go for a walk.)
10, Explain the meaning of the adverbial phrases ““above
ail,” and “above hoard?’ and write sentences with cach
of them.

Samples—
EY

““ Above all?? means **before every other consideration”?
For example, Above all {before anything else) beware
of-idlencss.  **Above board”® means ““without secret or
anderhand scheming.’® For example. Every thing
that he did was open and akove board.

11. Give the meanings of the adverbial phrase **by and by??
and © by the by®” and write sentences with each of thems.
Samples—

{a) “By and by’ signifies “aftor an interval.?” Whether
the interval is a long or a short ones is elther left open,
or depends on the context. For examples, ““You will
fecl better by and by (after a time.) By and by (some

time after wards) the teacher come into the rooi.

— 84—



(1) “By the by?®’ means ‘‘incidentally or in passing’’
For example, By the by (= let me remark in passing)
I heard vesterday that there was a violent storm of
wind at Calcutta two days ago.

12. Write sentences with the adverbial phraces “‘on the

contrary’’ in each of them and give explanations.

Sampler—

These phrases are not identical in meaning, as may be
seen from the following examples:t 1 do not admire
that man; on the coatrary, {for from admiring him) I
have a great contempb for him. I have nothing to say
to the contrary (I have nothing to say against what
you or some one else has said.)

18, Give a distinction between the adverbial phrases “once

i4.

3 ¢ . -
and again®? and ‘‘now and again’® and write sentences
with each of them.

Sample:—

“Once and again’® means ‘‘repeately,” once and more
than once. “*Now and again® means “‘oceasionally.’?
for examples, Once and again the Parrot said, “eome
in' Now and again the Parrot hit the wire of its age.

Write sentences with each of the following prepositional
phrasess

65 : b6y, 3
By means of,”? by virtue of,”? ~"vuy way of.”?

Samplet—



(1) He recovered his health by means of sea-air and
sea-bathing,

{2) The dog was sleeping and they won the day, but
only by virtue of hard fightling

( 3) I mention this point by way of cautioning you.

Write sentences with each of the following prepositional
phrases: ’

*in accordance with,® “in (or on1) behalf of,”
“in case of,” ““in consequence of.?’
“in splite of " ““in respect of,”

“in view of,*’ “in sight of,”’

“in favor of,”? “in liea of”? |
Sample:—

(1) Your actions are not in aceordance with common
SONeC.

(2) This request s made to you on behal f of my son.

{3 ) I have kept a reserve fund in case of accidents.

(1) In consequence of that ship weeek many families
are In nonrpine,

(5) Inspite of all the advice that T gave him, he iook
to the prav tive of snioking.

(6 In vespect +f age he is iy seuior.

(7)Y

Ve must 1oake up our mind- ot once @ view of the
urgency of the e,

{8) We had now cono in sight of land.



16.

17,

(9) He has resigned his post ¢n favor of his son.
(10) You must take my subscription in liew of his.

Write sentences with one of the following prepositional
phrases: |
(a) in order to, {h) in regard to, (¢} in proportion to.
Sample:— .
(1) Nothing should be left untried in order to ace
complish this.
(2) What have you to say ir regard to that subject?

( 3) He is cleverer than yoa in proportion to his years.

Write sentences with each of the following prepositional
phrages;

(2) on account of, (b) on the brink of, (¢) on the
ground 8f, (d) on tha part of, (¢) on the point of.
Sampler—
(1) The famine took place on accrunt of the failure of
the m‘in.

) The coantry is on the brink of a sorious disastor,

o,
3]

He declined the invitation eon the ground of a

previoas engageent., i

( 4) Incompetence on the part of a judge can not bud
lead o miscarriage of justice.

{5) Hec was on the point of letting out the seciet when

he checked himsel{.



18,

13,

20,

Write sentences w%ith each of the following prepositional
phrases®

(2) with a view to. (b) with an eye to, (c¢) with
reference to. I

Sample:—

(1) 1said all T could with a view fo proving his innocence..

{ 2} He is working hard now with an eye fo the future.

{3) I have nothing to say with reference to, or with
regard {0, or with respect to this question.

P . [4 % ) N 3
Write sentences with the phrases “‘according as,” and
““in case,’’ and give explanations respectivelly.
Sample:—

**The plan will succeed or not according as it is judiciously
9 3 . [4 -
managed.”” Here the phrase according as ““means®

according to the extent to which, “or'’ atcording to the
manner in which.”?

Distinguish hetween the phrases “‘other than” ‘“other
berides,”” and give examples.

Sawmple:

(1) **No person other than a graduate need apply.’’ the
phrase “‘other than” means **different from,??
“oxcepts” or “but” ““no one except a graduate,””
“noother pevson but a graduate.”” The word “than™
5 here a preposition, which compare: or dise
tinguishes a graduate from other men.



(2)

*“No other person besides my friend applied,”’ the
phrase “‘other besides” means “other in addition

to,’* no one besides or in addition to my friend
applied.

21, Explain the different uses of ““so and s0,” “or s0,’" “so
£0,"? and ““co on?’ and give examples.

22.

(1)

(2)

(3)

(4)

-Bample:—

““He asked what I meant, and I told him ““so and
£0,”? The phrase *“so and s0” is the adverbial form
of the indefinate adjective.” “‘such and such? 1
told him o0 and c0.”” might be rewritten *‘I gave
him such and such an answer.”’

**1 shall return in a week or 0.”” The phrare “‘or
s0’" iz also used indefinitely, and the seutence
might be rewritten, “‘I shall retwrn in a weak or
such-like.”?

His work is only so so. The phrase ““to 10’ neans
fairly well ““andis used when the speaker does not
wish to be more precire.

Ag in ““He desliked dances, plays, picnics, and so
ony”® the phrase “‘and so on®’ means “‘and such
. ’ £ -
likes?? **etc.?” the adverb “on?’ means ‘‘forward.”

Explain the distinct meaning of each of these expressionss
{a) little, (b) a little. (¢) the little, and give examples,

Samples—-



{a) “‘Little” is a negative adjective, and means **not
much,?® for example—He had little money, ={(not
much money.)

{b) A little’ is an affirmative adjective, and means
“come at leasts?? -— a certain quantity, however
little, for example—He had a little money.= (Son}e
money at least, although the amount was small.)

{c) ““The little implies two statements — one negative,
and the other affirmative. For example—He spent
the little money he had. Thi= is (1) the money he -
had was not much (negative). (2) He spent all the
money that he had (affirmative).

- A . . . 73
23, Explain the distinct meanings and uses of “any 2’ and
Y .

a2 many’’ and give examples.

Sample:—

“Many a' is followed by singalar moun and “‘a
many” by phial ones, — many a — here “‘a’ =
“one;” maney “‘a man’’ means “‘many times one
man,’ or “many men.”® Hence “‘many®’ has here
the force of a multiplicative numoral — many a
month and miny a maid go there. {b) A many —
here ““rany’® has the force of a collective noun, and
of is understood after it —— they have 1ot shed a
many tears.

4, Mention the various uses of “*but.””

=

Sample—



**But’ may be used as a conjunction an adverb, an
adjective and a preposition; as, the hen is a bixd
but it cannot fly. He was all but dead. We meet but
to part.

25, What are the uses of the connectives ‘‘when” and
 “where?” Give an example for each.

'Sé,mplez-ﬁ-:

(a)

{b)

When “may connect a clause expreissng time, cause,
or condition, an adjective clauge or a noun clause,
or it may connect ¢oordinate clanses; as (1) The

“boys were astonished when they saw the stranger.

(2) November is the month when the deer sheds its
hours. (3) When the future is uncertain, make the
most of the present. (4) When the five great Buro-
pean races left Asia is a question. (5) When judes
accept bribes what may we expect from common
people? (6) The dial instituted a formal inquiry,
when hands, whells and weights protested their
innocence.

“Where”® my connect a clause expressing place, an
adjective clause, or a noun clause; as, (1) No one
knows the garden where a large house was built.
(2) Whore the man was killed is still question.
{3) No one has been where the man was killed.

— 4] -



PART IV
Diagrams

1. Diagram the following sentences.
{a) A somewhat dangerous pass had been reached guite
unexpeactedly. ) B
(b) The Gulf stream can be traced aloug the shores of
the United Statos by thd blueness of the water.
{c) The famaus Alexandiin Libravy was burned.
{d} The great Spanish Armada was destroyed.

(2) Fivelarge, ripe iusclous, meliow apples were picked.

Sample:—

{5y
Gulf Stream § can be traced
~ 0 X,
\}’5
G
g, .
: % hlugness sheores
«\\v" * A
< 5 NG
AN
\’Lli‘i’f'i?;m“
&
(3



{c}

Hb,té.f} A was burned

NG 1
4 2o, 3 7
\ GQ, *Qo_ﬂ' .

(d)
Armada ‘ | was destroyed
o @QEQQ;
¢

apples were picked’

2. Diagram the following sentences:

(;,) The stern, rigid puaritans often worshiped there.

(b) You will undoubedly be very cordially welcomeds

{c¢) The North pole has been approached in there prine
cipal directions.

{d) The first astronomical observatory in Hurope was
arected at Seville by the Saracens.



{e) 'The body of the great Napolean was carried back
from 8t. Helena to Fr ance.

Sample:—

puritans

(b))
You 1 will be welcomed
N s,
\\ 4]
\0 ’/v' \?r\‘
\'{’\,.', (// \\("3:{;
"\t*’.’»., B \\‘2“
N \\A
o A
\\r: h \
N \
.,
\ N,
“\
{<)
Noeth Fale f has been approached
$ e
& \
3 i
o \o




@)
observaiory j wes erected
pe

e P

A VE N\

'5; = \o \v » WA
Y -
0

' 3 \ _Europ Seville Saracens

[ .
% . N

0 .

{c)

- body ! was carried

; ;
d e ‘ -
Napolean o Y
\ )
‘ Si, Helerna France
&

G
o

8, Diagram the following sentences:

(a) TIn a letter we may advise, exhoits cpmfort, requeshs
and discuas. -

(b) The mental, moral, and muscular azc improved by
use,

{c) 'The hero of the Book of Job came from 2 strange
land and of a strange parentage.

(d) The opti: nerve passes from the brain to the back
of the eyehall, and there spreads out.

(e) Between the mind of man and the outer world are

interposed the nerves of the human body.

— AR



Sanpler—

{a)

t
§
s exhort |

comfort

E
-y -

i
west
letter \\\\\;f%,__nﬂ._.“_~e
d:scuss t discuss

Power are-improved

&
&

use




(D)

‘nerve . passes

» o, ‘ 3
<

{e)
nerves 3 are interposed
Ll
<
&2

4, Diagram the following sentences:
(a) All forms of the lever and all the principal kizds
of hinges are found in the body.

(b) By perlection is meant the full and hLurowe ious
development of the faculties.

(¢) VUgh! Ilook forward with dread o to-nonrow.
(d) Tush! tush! *t will not appear again.

— 47 e



Samples—

(a)
~forms
7\\0 - i
\"} " lever 'o { are found
- B2
. < ) s
kinds Ve L
\EAY
gf ? “e o,r- .
= N\& \% .\ hinge
Y
A ]
(b} .
development I is meant .
i
4
perfaciion

=

o

to-morrow




b. Diagram the following sentence::
(a) The Sax‘on‘ wo:ds in English aie simple; homely,
and substantial.
(b) Sit Philip Syduey lived and died the duling of the
courty and ﬁxe;gentlemen"nnd-idol of the time,

(c) 'The president and the Senate appoint certain men
ministers to foreign courts.

(d) Poetry is only the elojuence and enthusiasm of
religion.

Samplet—

(a)

i,
3

words 1 are

|}
e} ‘% ¢
& hNe 2 P
) English




133

;¢ Philip Sy'dney.{_

{e)

Lappoint. s minister f men

{4}

eloquence

enthusiasm

-

€. Diagram the foliowing sentences:

{4) Rearon’s whole pieasure all the joys of sense lie in

three words—heaith, peace, and competence.

— 50—



(b) 1 love t;d-lose my<e1£ in other mex®s minds.

{ 03 Chanrfulne% bamczhe'% all arxwus care and discotent.
soathes and compo‘:es the passmn and keep the soul

in-a perpetiire calm,
. Samples—

. {sa}

joys -

(b),

&
\”{ lése {myself

] s leve 3




Chaerfuloess)

{e)

¥

. Daigram the following sentences:

(a) The boy hurries away from home, and enters upon 3.

career of business or of pleasure,

(b) The long procession was closed by the great digni-
taries of the realm, and the brotheis and sons of
the king.

(¢) Men and women and children stare cry out and run.

Sampler~

3 hurnes

my \” &\ h;ma

g *® ) 5 enken
LA

. =bmme&a

(%)
7
¢l Q,.
pleseure

o ED o




(v)
procession ; was closed
' dignitaries

()

men

8. Diagram the following sentences:

{a) 'ghe horses and the cattle were fastened in the same
glables and were fed with abundance of hay and

graine

{b) Spring and summer, autumn and winter rush by in

quick succestion

— 53 e



E aye N . &
{¢} The Hebrow is closely allied fe the Arabic the
Phoenivioo the Syriac and the Chaldee.

Samplere—

bhoraeq

Exstensd
>

{&)

# i -
‘ / \\\ \{i .
' % SUECLSRI0N

$ 3 o
13 9(, °
. ’3._){ D
winter 07 \ i \\\9{;




f2)

Hebrew 1 is allied
> i
4@

9. Diagram the following sentences:

(a) Food, keeping the body in health by maldng 1t
warn and repairing its waste, is a necessity.
(b} 'To be, or not to be,—that is the question.

{¢) I supposzed him to be a gentlemen.

Samplet—

neccessity

S




(b)

that: Y is ! question
‘4&'
{e¢)
&
¢ be gentiomen
\
1 supposed § , i b

10. Diagram the following sentences:

{a)

(b)

{c)

It is natural to man to indulge in the Musions of
hope.

England’s debt, to put it in round numabers is
$4.000,000,000,

I saw the leaves stir,

N -



‘Bample:—

e (a)
°indulge

is natorsl§

o

1 $4,000,000,000

] leaves

&4
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